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QUESTION 1

A company wishes to configure Maximo so that meter readings automatically create work orders based on 

condition monitoring points. The company has already configured the system in Organizational settings 

and created the appropriate condition monitoring points. 

What additionally needs to be configured for this be accomplish? 

A. Any meter should be added to the asset and the ConditionMonWoGenCronTask should be active e 

B. A continuous type meter should be added to an asset and the PMWOGenCronTask should be active. 

C. A gauge type meter should be added to an asset and the MeasurePointWoGenCronTask should be active. 

D. A characteristic type meter should be added to an asset and the ConditionMonWoGenCronTask should be active. 

Correct Answer: B 

 

QUESTION 2

The business analyst for the purchasing department of a company is creating a workflow process for purchase
requisitions. A requirement is to branch the process to different approval groups based on a cost evaluation. 

Which method is used to implement this in Workflow Designer? 

A. A condition node with an expression. 

B. A manual input with a custom action list. 

C. An interaction node to review the PR lines. 

D. A call out to the purchasing thresholds of the roles. 

Correct Answer: A 

 

QUESTION 3

A company has identified three tasks (10, 20 and 30) and these tasks must be accomplished in a specific 

order to prevent damage to the asset. Task 10 must be complete before task 20 can begin, task 20 must 

be complete before task 30 can begin. 

How can the planner facilitate this requirement? 

A. Use the Sequence Column to identity the sequence 

B. Enable Flow Control on the Work Order and use the Sequence Column to identify the sequence 
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C. Enable Flow Control on the Work order and identify the sequence for each task in the Predecessors field of the task 

D. Use the Sequence Column to identify the sequence and setup Flow Actions that change the task status to Complete
and Approved 

Correct Answer: C 

Reference: ftp://ftp.software.ibm.com/software/iea/content/com.ibm.iea.mam/mam/7.1/work_management/
config_auto_wo_status_change.pdf 

 

QUESTION 4

A company has a requirement to report on actual labor hours, materials, services and tools used as work progresses on
a work order. 

What is the earliest point in the basic life cycle a user can start reporting? 

A. APPR 

B. COMP 

C. WMATL 

D. WAPPR 

Correct Answer: A 

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21683844 

 

QUESTION 5

Maintenance is required on an asset at every 6,000 miles that uses job plan JP6K, and there is an additional Job Plan,
JP18K, that is used at every 18,000 miles. This Meter-Based Frequency PM has a frequency of 6,000 miles. 

What are the correct sequence values to use on the Job Plan Sequence tab? 

A. JP6K = 1 JP18K = 2 

B. JP6K = 1 JP18K = 3 

C. JP6K = 0 JP18K = 3 

D. JP6K = 6 JP18K = 18 

Correct Answer: B 

 

QUESTION 6

A planner has developed an ad hoc report with information specific to a variety of locations and assets. 

The planner wants to automatically run and receive this report every Monday at 7am as well as having it 
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sent to a maintenance supervisor. 

What reporting feature enables this? 

A. Escalation 

B. No Request Page 

C. Maximo Scheduler 

D. Scheduling and Emailing 

Correct Answer: D 

 

QUESTION 7

An approved work order has been assigned an incorrect job plan. 

How do you correct this? 

A. Change the Job Plan Revision to the correct revision. 

B. Clear the Job Plan field and enter the correct job plan. 

C. Create a Follow-up work order with the correct job plan. 

D. Select Remove Work Plan from the More Actions menu and enter the correct job plan. 

Correct Answer: D 

 

QUESTION 8

A user makes changes to a work order record and saves. The screen shows an error dialog that displays "Record has
been updated by another user, refetch and try again.". 

How can the user avoid this error? 

A. Use edit mode for the mode order 

B. Save the work order before making changes 

C. Send a bulletin board message to other users 

D. Ask the database administrator to lock the work order 

Correct Answer: B 

 

QUESTION 9

A maintenance planner is in the process of planning time sensitive emergency maintenance work orders for a number of
assets where items need to be reserved. 
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What reservation type should be used? 

A. Soft 

B. Hard 

C. Urgent 

D. Critical 

Correct Answer: B 

Reference: http://www-01.ibm.com/support/docview.wss?uid=swg21580188 

 

QUESTION 10

Which technique or setting will an administrator use to prevent a PM from being modified by its Master PM? 

A. The Override Updates flag on the PM 

B. The PM options dialog of Organizations 

C. A data restriction on the Master PM object 

D. The Lock Forecast Dates action on the PM 

Correct Answer: A 

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg21699399 

 

QUESTION 11

A company requires that laborers record the actual time they spent on a work order. The labor hours recorded are not
automatically approved and the company does not want the laborer to have access to the Work Order Tracking
application. 

Which application would the laborers use? 

A. Invoicing 

B. Time Sheets 

C. Labor Reporting 

D. Activities and Tasks 

Correct Answer: C 

Reference: http://www.ibm.com/support/knowledgecenter/SSLKT6_7.5.0/com.ibm.mam.doc/gp_finmgr/
c_ctr_rprt_lab_use.html 
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QUESTION 12

A company wants to issue a tool with an hourly rate to a work order. Which applications can be used to do this? 

A. Inventory | Tools 

B. Stocked Tools, Inventory 

C. Tools, Work Order Tracking 

D. Stocked Tools, Work Order Tracking 

Correct Answer: A 

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg21672597 

 

QUESTION 13

A forecast for a monthly PM has been generated for 6 minutes. A new data has been entered for the second row and
saved. When the Process Pending Reforecast button is clicked, the following error appears: BMXAT0217E-There is no
reforecast pending to process. 

What would cause this error? 

A. The reforecast dates are locked 

B. The PM is not in the Active status 

C. The reforecast cron task is set to run every 3 days 

D. The Reforecast Subsequent Dates? checkbox was not checked before the forecast was generated. 

Correct Answer: D 

Reference: https://www-01.ibm.com/support/docview.wss?uid=swg1IV55903 

 

QUESTION 14

A company has a work order with 50 separate tasks and 40 of the tasks have been completed. The company would like
the remaining 10 tasks grouped with a new parent work order. 

Which option will group the tasks? 

A. Select the task work orders and Create Work Package. 

B. Select the task work orders Create Job Plan from Work Plan. 

C. Create a new work order and add the task work orders on the Plans tab. 

D. Create a new work order and add the child work orders on the Plans tab. 

Correct Answer: A 
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QUESTION 15

At what level are service items defined? 

A. Set 

B. Site 

C. System 

D. Organization 

Correct Answer: A 

Reference: https://www.ibm.com/support/knowledgecenter/SSLKT6_7.6.0.5/com.ibm.mbs.doc/
pdf_mbs_multiple_site.pdf 
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